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Part A (10 x 2 =20)

Answer all questions.

How are industries classified?

Qamhereeser erliLly Wflssiupdlearmer ?

Write a sentence on two on what 1s ‘Industrial

Economics’.
Qzmegienn Qummertsrybd LUHH @l cuflsaid er(pgis.

Give any two examples for public sector.

Qurgisgieom | <irs Hineuarmbser ereneuCuienid @ ey enen
FIS.

What is private sector?
SSNUTTSFHIEND GTETMHTE 6T6HTE ?
What is productivity?

2 HLSH FHoer eTeTmTE) GTETET ?

Define utility.
vwerur® udHdl er(pgis.



10.

11.

12.

What is Anti-globalization?

2_OSWWIDTESH0-6TSITIL LUHD 6T(pS)s.

What is Deglobalization?

2 OSWIDTESEIGT-2 L6 LHH 6T(LpFIs.

Give the meaning of industrial reforms.

QamAnyrrd upd BeliT idleug wirg ?

Write a sentence or two on ‘New Industrial Policy’.

ydw QsmflhQasrerens Lpdl ¢l cuflsaicd erpgis.

Part B (5x5=25)

Answer all questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

Give the linkage between agriculture and industry.

GTeUGUM) Gauermarenou|id QsmOnHaTae b
19 vt ewfl ull (& Sl bt 6t 2
Or

Mention the problems faced by large-scale
industries in India.

@i Gum Asmfldseaiear Yrssamarsamear @nILL0Hs.
Write brief notes on ‘cooperative’ sector and give
examples.

sl (e geop ubpd dfleurs er(pgHs  WOHMID
2 SMyeRTBIGET G0 [HS.

Or

‘State Public Enterprises’ - Explain in detail.
bl ire gevm Ggmdseier (paflwggieud ererer?
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13.

14.

15.

(a)

(b)

(a)

(b)

(a)

(b)

Explain total productivity and productivity of labour
in industries.

Asmfipgiewpseiier e  2pusdsdvear  wHHID
o anplildler 2 HuSHS Hmer LuHD eflerdsHe]b.

Or

List out the factors which boost industrial
productivity.

Qsmngimn 2 Hussssner CobuBSgb srramilsamar
GI'@Q]&B

Write brief note on the impacts of globalization in
India.

@ndureier o @sLWLTIEGHSO T STEGSD  LDHDH
ellfleuns er(pgis.

Or

State (minimum 5 difference) between public sector
and private sector.

‘@re gleop wHMID ‘seflwunt gy @euhdld @enLulied
o _arer gl Ceumumhsamer 6T(Lpgis.

‘Industrial growth of India is in a fluctuating
pattern’. Justify.

‘@rdurefer Qzmfldgienn elariésl @ gnhm @QnEs
uerUL LD @bs eursdlwusems Hlumulibhss)s.

Or
Mention the salient features of 1948 industrial
policy.

@bdu  rflwe  CsmPn Csmratens 1948  ulfler
Spilener LD eT(HIIS.
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16.

17.

18.

19.

20.

Part C (3 x10=30)

Answer any three questions.

How industries have helped in economic growth and
development in India?
@ndwurelfer Cumrmertsry  euaTTEslEE CQFTHHFTESET
eTeueUTM 2 gedlueTemen.

Trace the origin and growth of some major public sector
industry.

Qurgisgieon Hineuamsafer (Hoahanm) eueTTdsl ereueumm
BanL_CluHmG) eraLgamen alemd@s.

Define ‘Total Factor Productivity’ with required graph. In
the last months record if O/P = Rs. 20,000, Human I/P =
Rs. 10,000, Material I/P = Rs. 2,000, Capital I/P
Rs. 1,000, Energy = Rs. 500 and other expenses
Rs. 1,000. Calculate TFP (Total Factor Productivity)

Coamaiwmar  ecuepuL gL er Gwrsgs smrenfl 2 HuSHS
Spevar euerunEseDd. sLbs s udeler O/P = .
20,000, waflg I/P = ep. 10,000, Qun@pLadr I/P = er. 2,000,
EPOSETLD I’p =

gh. 1,000, <pHmed = . 500 wHmb @&y CFwe|ser = .
1,000. Qs smrentl 2 HLSGSHS Spevar sanflésa]b.

Give the importance of ‘Public Private’ partnership in
India.

@pdwureler  Qamhvgimpuied  ‘Sre-geflurt  galiger
W&Hwsgeud UHH 6T(PSIs.

What are the objectives of New Industrial Policy in India?
@pdwureier yHw Qsmpagienn Garareansulen Crrésniger

GTGOTGOT ?
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